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(- ) Sub Main()
Dim h As Integer
Dim t As String
Dim i, j, kK, m As Integer

h=7
t=""
m=0
Fori=hTo 1 Step -1
Forj=1Toi
t=t&""
Next j
Fork=0Tom
t=t&"™"
Next k
Console.WriteLine(t)
t=""
m=m+1
Next i

Console.ReadKey()
End Sub  [10 4]

(= ) Sub Main()
Dim X As Integer = 11
Fora=1To(X+1)/2
Forb=(X+1)/2-aTol Step -1
Console.Write(" ")
Next b
Forc=1To2*a-1
Console.Write("*")
Next c
Console.WriteLine(" ")
Next a

Ford=(X+1)/2-1To1 Step -1
Fore=(X+1)/2-dTo 1l Step -1
Console.Write(" ")
Next e
Forf=2*d-1To1l Step -1
Console.Write("*")
Next f
Console.WriteLine(" ")
Next d
Console.ReadKey()
End Sub [15 » ]



